

Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date:

05/02/2023 11:00 AM | Load Semi (Date Approx)

Shipping Address: Due Date: Upon Receipt

Thursday Event: Puerto Raiz Friday Events: Las Ventanas Resort &

Maravilla Beach Club

PO:

Saturday Events: Private Home

Salesperson: Angela Murelli

05/07/2023 09:00 AM | Crew Travel to Mexico 05/08/2023 09:00 AM | Cross-Loading & Preparation 05/09/2023 09:00 AM | Install Begins 05/11/2023 06:00 PM | Event: Puerto Raiz 05/11/2023 11:30 PM | Strike Puerto Raiz 05/12/2023 11:30 AM | Event: Luncheon 05/12/2023 04:30 PM | Strike Luncheon 05/12/2023 06:00 PM | Event: Beach Club 05/12/2023 11:30 PM | Strike Beach Club 05/13/2023 04:30 PM | Event: Wedding Day 05/14/2023 09:00 AM | Soft Strike Day One 05/15/2023 09:00 AM | Strike Day Two 05/17/2023 09:00 AM | Crew + Manager Travel to LA 05/23/2023 09:00 AM | Semi Return (Date Approx)

Description		Qtty	Price		Total
Puerto Raiz - V	Velcome night - Thursday				
	Truss Cover - Tan/Taupe Lycra (4) 14'x 12"x12" (5) 31'x12"x12"	1	\$2,655.00	Т	\$2,655.00
	Truss Cover - Tan/Taupe Lycra 12"x12"x16'H	5	\$190.00	Т	\$950.00
	Frayed Rope Strands for the perimeter of the truss structure to create a frayed edge similar to inspiration image	1	\$9,000.00	Т	\$9,000.00
	Multi Chandelier Hooks - Palm Tree Style used with Macrame pendant lights and Dream Catchers Metal Frame covered in white rope	5	\$500.00	Т	\$7,500.00
	Boston Round Bar 12'D - Metal Frame Bar - Boston - 12' Round Complete - Laser Cut with laser insert all painted in a taupe/tan	1	\$3,650.00	T	\$10,950.00
	NEW Light Up Bar 6'L - Metal Frame frame painted taupe/tan color	2	\$650.00	T	\$3,900.00
	NEW 6'L Laser Cut Bar Panels for Straight Bar	2	\$1,250.00	Т	\$2,500.00

Description		Qtty	Price		Total
	Straight Barback 8'L - Metal Frame Painted in taupe/tan color	7	\$275.00	Т	\$5,775.00
	Pendant Macrame Light - Instock to hang on the entrance Tipi and on the Metal Hooks	9	\$100.00	Т	\$2,700.00
	NEW Pendant Macrame Light	29	\$175.00	Т	\$5,075.00
	NEW Macrame Style Dream Catcher	38	\$85.00	Т	\$3,230.00
	Wooden Structure to Hang Macrame 16'x 10'H covered in rope or faux wood to blend into the overall decor theme	2	\$500.00	Т	\$1,000.00
	Oversize Props - Metal Flowers in Varied Sizes painted a taupe/tan color	8	\$4,500.00	Т	\$36,000.00
	Macrame Hanging Pieces Per Furniture Groupings multiple pieces of macrame hung as a background accent for all the food stations	2	\$750.00	Т	\$4,500.00
	Total Puerto R	aiz - Welcor	ne night - Thurs	day	\$95,735.00
Las Ventanas - I	uncheon - Friday Day				
	SUBRENTAL - Umbrella 9' x 13' and Base	13	\$715.00	T	\$9,295.00
	Total Las Ve	entanas - Lui	ncheon - Friday I	Day	\$9,295.00
Maravilla Beach	Club - Rehearsal - Friday Nig				
The state of the s	Pendant Lamp - Bali - Asymetrical Weave	5	\$125.00	T	\$1,875.00
	Pendant Lamp - Bali - String Weave	5	\$125.00	T	\$1,875.00
	Accent Pillows - Ombre Yellow Linen (3) different tones of yellow linen pillows for each grouping	10	\$250.00	Т	\$2,500.00
	Total Maravilla Bea	ch Club - Re	hearsal - Friday	Nig	\$6,250.00
Private Home - 0	Cocktails - Saturday				
	Montecito Bar 8'L - White (Rustic) look similar to Del Cabo Bars	3	\$1,250.00	Т	\$11,250.00
35	Santorini Sofa Section - Left Arm - Off White Boucle	2	\$500.00	Т	\$3,000.00
	Santorini Sofa Section - Right Arm - Off White Boucle	2	\$500.00	Т	\$3,000.00

Description		Qtty	Price		Total
6	Santorini Sofa Section - Middle - Off White Boucle	4	\$450.00	Т	\$5,400.00
	Santorini Club Chair - No Arm - Off White Boucle	8	\$215.00	T	\$5,160.00
	Santorini Pillow Ottoman - Off White Boucle	4	\$175.00	Т	\$2,100.00
300	Siena Round Coffee Table - Wood Sphere Base w. Glass Top	8	\$250.00	Т	\$6,000.00
	Rome Accent Tables - Round 01 - Off White	4	\$150.00	Т	\$1,800.00
	Rome Accent Tables - Round 02 - Off White	4	\$150.00	T	\$1,800.00
	Ottoman Pod 18"D Off-White Boucle	16	\$50.00	T	\$2,400.00
	Accent Pillows: Mixed Whites and sage green	32	\$30.00	Т	\$2,880.00
	Total Priva	ate Home - Cocktails - Saturday			\$44,790.00
Private Home - R	Reception - Saturday				
	Ceiling Truss Covers in Off White (4) 16'x12"x12" Legs (1) 28'x12"x12" Up Stage (1) 35'x12"x12" Down Stage (3) 65'x12"x12" Cross Beams (1) 19'x12"x12" Entrance Truss (4) 13'x12"x12" Legs for entrance	1	\$5,900.00	Т	\$5,900.00
	Fabric To Cover Restrooms 16'x8' In Off White Gauze with Backing	4	\$1,800.00	Т	\$7,200.00
	Exterior Ceiling Drape - Flat Partial pulled Tight Quoted for a 100' x 100' Tent	1	\$19,250.00	Т	\$19,250.00
	Interior Ceiling Drape - Flat Partial with 'Panza'	1	\$19,250.00	Т	\$19,250.00
	Interior Peak Wall - Stage Side triangle top in faux white linen	1	\$9,000.00	Т	\$9,000.00
	Exterior Perimeter Drape - 12'H Simple Modern pullbacks at each tent leg Quoted for a 100' x 100' x 12'H Tent	1	\$8,200.00	Т	\$8,200.00
	Interior Perimeter Drape - 12'H Simple Modern pullbacks at each tent leg Quoted for a 100' x 100' x 12'H Tent	1	\$8,200.00	T	\$8,200.00

Description		Qtty	Price		Total
	Perimeter Valance - Interior & Exterior TBD Fabric Material Quoted for a 100' x 100' Tent	1	\$3,850.00	Т	\$3,850.00
	Chandeliers Gold Cage 48"D 48"Diam x 40"H - LED 50W	12	\$825.00	Т	\$29,700.00
	Subrental: Folding Table 48" x 48"	6	\$75.00	Т	\$1,350.00
	NEW Fitted Table Cloth Round 72"D x 30"H White Faux Linen with Open Inverted Pleat in Green as shown in the sample	15	\$600.00	Т	\$9,000.00
	NEW Fitted Table Cloth Rectangle 8' x 48"W x 30"H White Faux Linen with Open Inverted Pleat in Green as shown in the sample	14	\$700.00	Т	\$9,800.00
	NEW Fitted Table Cloth Rectangle 12' x 48"W x 30"H White Faux Linen with Open Inverted Pleat in Green as shown in the sample	4	\$1,200.00	Т	\$4,800.00
	NEW Fitted Table Cloth Rectangle 20' x 48"W x 30"H White Faux Linen with Open Inverted Pleat in Green as shown in the sample	1	\$1,975.00	Т	\$1,975.00
	Re Used Barbacks from Puerto Raiz	6	\$0.00	Т	\$0.00
	Total Priva	te Home - F	\$137,475.00		
Private Home -	After Party - Saturday				
	White Flat Scuba Drape 14'x 15'H	2	\$0.00	Т	\$0.00
	Custom Made truss Cover in Black Scuba (18) 17'x12"x12" Legs (4) 24'x 12"x12" (4) 14'x12"x12" (2) 35'x12"x12" (2) 34'x12"x12" (2) 17-x12"x12" (1) 60'x12"x12" (1) 28'x12"x12" (1) 35'x12"x12"	1	\$5,750.00	Т	\$5,750.00
	Kabuki System	1	\$1,800.00	Т	\$1,800.00
	200'x 15'H Stretch Velvet Black	1	\$6,000.00	Т	\$6,000.00
	Black Sheer - For Behind Candle Walls no backing 2-40'x10'H 2-30'x 10'H	1	\$3,000.00	Т	\$3,000.00
	Black Stretch Velvet to Cover Restrooms 16'x8'H	2	\$1,800.00	Т	\$3,600.00
	Panels - Candle Wall Metal Painted Satin Black - With Faux candles	12	\$500.00	Т	\$18,000.00
	New Candle Walls - matching existing ones Painted Satin Black - With Faux candles	12	\$2,500.00	Т	\$30,000.00
	New York Bar 8'L - Satin Black	4	\$950.00	Т	\$11,400.00

Description		Qtty	Price		Total
	Custom Made New York Fronts With Geo Modern front Panels	4	\$1,500.00	Т	\$6,000.00
	Bars - New York - Folding 6' - Satin Black	2	\$800.00	Т	\$4,800.00
	Custom Made - New York Front for 6' With Geo Modern Front Panesl	2	\$1,200.00	Т	\$2,400.00
	Barback - Nantucket - Wood Large Painted in Black	2	\$220.00	Т	\$1,320.00
	Barback - Nantucket - Wood Small Painted IN Black	4	\$220.00	Т	\$2,640.00
	Las Vegas Round Booth - Black Velvet	6	\$550.00	Т	\$9,900.00
	Beirut Ottoman - Black Boucle paired with Del Cabo Sofa & Chairs	12	\$85.00	Т	\$3,060.00
4	Top Hats - Monaco Black Velvet	1	\$650.00	Т	\$1,950.00
	Ottoman Pod 18"D Black boucle	6	\$50.00	Т	\$900.00
	Coffee Tables - Hamburg - Square Low - Black Wood	4	\$250.00	Т	\$3,000.00
	NEW Coffee Table - Hamburg Square Low - Black Wood 36"W x 36"D x 11"H	2	\$650.00	Т	\$1,300.00
T	Accent Tables - Hamburg - Square - Black Wood 24 3/4"W x 24 3/4"D x 21 1/4"H	4	\$150.00	Т	\$1,800.00
	New Coffee Table - Bruges In Black 60"W x 26"Dx 12"H	4	\$650.00	Т	\$2,600.00
	Accent Pillows - Assorted	35	\$30.00	Т	\$3,150.00
	Total Private	e Home - Af	fter Party - Satur	day	\$124,370.00
Services					
	Installers: Travel to Mexico	12	\$400.00		\$4,800.00
	Installers: Flights purchased (4) round trip tickets	1	\$1,804.00		\$1,804.00

Description		Qtty	Price		Total
	Installers: Cross-Load Monday Revelry Crew A	4	\$650.00		\$2,600.00
	Installers: Install Residence Tuesday Revelry Crew A + B	8	\$650.00		\$5,200.00
	Installers: Install Residence Wednesday Revelry Crew A + B	8	\$650.00		\$5,200.00
	Installers: Install Puerto Raiz Wednesday Revelry Crew C	4	\$650.00		\$2,600.00
	Installlers: Install Residence Thursday Revelry Crew A+B	8	\$650.00		\$5,200.00
	Installers: Install Puerto Raiz Thursday Revelry Crew C	4	\$650.00		\$2,600.00
	Installers: Strike Puerto Raiz Overnight Revelry Crew C	4	\$650.00		\$2,600.00
	Local Additional Crew: Strike Puerto Raiz Overnight	2	\$650.00		\$1,300.00
	Installers: Install Residence Friday Revelry Crew A	4	\$650.00		\$2,600.00
	Installers: Install Las Ventanas Friday Revelry Crew B	2	\$650.00		\$1,300.00
	Installers: Install Beach Club Friday Revelry Crew B	2	\$650.00		\$1,300.00
	Installers: Install Residence Saturday Revelry Crew A + B	6	\$650.00		\$3,900.00
	Installers: Stand Bys Saturday	2	\$400.00		\$800.00
	Installers: 'Soft' Strike Sunday Revelry Crew A +B	8	\$650.00		\$5,200.00
	Installers: Strike (2) Days	8	\$1,300.00		\$10,400.00
	Installers: Travel to Los Angeles	12	\$400.00		\$4,800.00
	Installers: Perdiem for (11) Days Revelry Crew A	4	\$1,188.00		\$4,752.00
	Installers: Perdiem for (10) Days Revelry Crew B	4	\$1,080.00		\$4,320.00
	Installers: Perdiem for (4) Days Revelry Crew C	4	\$432.00		\$1,728.00
	Installers: Hotel Accommodations Client to Provide	6	\$0.00		\$0.00
	Local Additional Crew: Cross-loading & Driving	6	\$450.00		\$2,700.00
	Trucking: Semi Round Trip price approximated	5	\$42,000.00	Т	\$210,000.00
	Trucking: Smaller Box Trucks price approximated	12	\$500.00	Т	\$6,000.00
	Trucking: Rental Cars for Crew; price subject to change	3	\$2,700.00	Т	\$8,100.00
	Trucking: Rental Cars for manager; price subject to change	1	\$1,700.00		\$1,700.00

Description		Qtty	Price	Total
	Manger: Onsite for (10) Days	1	\$9,500.00	\$9,500.00
	Manager: Perdiem for (10) Days	1	\$1,080.00	\$1,080.00
	Manager: Onsite for (6) Days	1	\$7,500.00	\$7,500.00
	Manager: Perdiem for (6) Days	1	\$648.00	\$648.00
	Manager: Hotel Accommodations Client to Provide	2	\$0.00	\$0.00
	Manager: Travel Days (2)	2	\$1,500.00	\$3,000.00
	Pre-Production: Labor/Overtime Overtime/Rush Weekend production for preparation for semi loads on Tuesday, Wednesday	1	\$15,000.00	\$15,000.00
	Pre-Production: Site Vists	3	\$1,650.00	\$4,950.00
	Pre-Production: Costs Spent on Site Visits	1	\$4,000.00	\$4,000.00
	Pre-Production: Design, Meeting, & Management of Vendors	1	\$24,000.00	\$24,000.00
	Post-Production: Cleaning Fees & Damages non-refundable waiver for 'wear + tear' on the post-production side	1	\$5,000.00	\$5,000.00
	T&C Service Charge	1	\$1,300.00	\$1,300.00
	Dazian Service Charge	1	\$2,000.00	\$2,000.00
	Supplies: Misc	1	\$13,000.00	\$13,000.00
Please make che	cks payable to Revelry, Inc.		Total Products:	\$417,915.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total I	Labor/Services/Misc:	\$394,482.00
			Taxes (tax excempt):	\$0.00
Notes			Discounts: Total:	(\$87,742.50) \$724.654.50
			Payments:	\$724,654.50 (\$623,254.50)
			Balance:	\$101,400.00
			Baiarioc.	ψ101,100.00